
a). Tick one word to complete the sentence below.

Sam and Alex watched TV  ______________ they ate their 
dinner. 

Tick one.
 as
 which
 but
 later 

b). Draw lines to match each sentence with the correct 
punctuation.

• Stop                                                                                         ?

• Why did you do that                                                             .

• It is raining outside                                                               ! 

1. Sam counted the animals legs in the zoo.
There were 18 lion with four legs each. 
There were 6 ostriches with two legs each.

How many legs were there altogether?

2. Complete the following:

136 ÷ ___________ = 34

¼ of 136 = ____________

34 x 4 =  ______________

3. Here are some animals.
Circle   ଷ

ସ
  of the animals.

Grammar and punctuation Reasoning

clumsily
speedily
lazily
luckily
noisily

Spelling Arithmetic 12  x  12 = 142 + 100 = 5
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2

8
 =   
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